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01 AL EFSFHSHI 38,400 0 38,400
OEHI =T HEXA(MPALHEAE"(2)IHE
FoEl My A X2 "0l M )38,400,0003 * 14 38,400 0 38,400
| 19,200 0 19,200
= 5,760 0 5,760
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C HE =BT
A SUNE NS (SEHSL/5Y - 55)

Sl BADlE 23 CERED
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
1] A 73,440 0 13,440
HHSHBY (ST (OIEH/IIE) 83,156 105,350 ~22,194
oz 2yl 16,350 22,218 5,868

o1z 2l 16,350 22,218 5,868
101 21248l 16,350 22,218 £5,868

02 JIEHE B4 16,350 22,218 5,868
OBZYAOA A ST (BT A2
A 5,300,0009 5,300 6,618 ~1,318
OBZYALOIA SABE IS (FYTY &
2) A 10,200,0009 10,200 14,400 ~4,200
ODEZYALAN YAS 2H(ZYTY A2
) 23 850,0008 850 1,200 A350
R 66,806 83, 132 £16,326

R 66,806 83, 132 £16,326
201 2Bt | 14,426 18,082 A3,606
01 Ak 22l 14,426 18,082 £3,606

OSAMEX P(WAMEZ) FF 1,290,000 1,290 2,340 A1,050
0472 24 4,160 6,560 A2,400
—ZAD EW(HAEY)  FF 600,002 600 1,000 A400
— HRIEH EU(S)(TBTH AY)

A 2,000,0009 2,000 4,000 £2,000
OJIEH MBI (HAE) ZF 624,008 624 780 A156
202 01t 49,680 62,100 A12,420
01 2Uholbl 49,680 62,100 A12,420
E4D YRET OfHI (I AE) 43,056 53,820 £10,764
— B0l HM 29,952,002 29,952 37,440 ~7,488
— 2ol AT 13,104,008 13,104 16,380 £3,276
OZZYA200A Ol (BIAE) 6,624 8,280 A1,656
— Uil A 4,608,0009 4,608 5,760 A1, 152
— 2ol A 2,016,0009 2,016 2,520 504
203 R = bl 2,700 3,000 A300
04 RASYL L= 2,700 3,000 2300

ORHSLALERY (ZA D) (CIAE)
A 2,700,000% 2,700 3,000 A300
SUAY F NCMHS(SYHY+A/5Y - 55) 3,412,101 3,499,316 £87,215
2 490,600 383,900 106,700
= 372,186 344,208 27,978
Al 2,549,315 2,771,208 £221,893
EBNQ SYNE JYEY 2,259,365 2,185,694 73,671
2 367,300 260,600 106,700
= 270,840 240,840 30,000
Al 1,621,225 1,684,254 263,029
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C HE =BT
HE: sAEWA B NCAY(SHHSLM/5Y - 58)
Sel: EEXQ SYNE JIBEY (B9 ®R)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
—RR(rEsE, HER)
23 1,000,0008 + 1k 1,000 2,000 A1,000
—5083(4EBE, ER)
23 1,000,0008 + 1k 1,000 2,000 A1,000
ORI RNHI(2B8H A2) 33 02 0 4,320 ~4,320
405 THAHE S b 7,180 8,000 £820
01 MU 2B St 7,180 8,000 820
ONTXA MIU=AI U (GAEL)
23 3,500,0008 * 2Cf 7,180 8,000 A820
sed|zEs 99,082 108,522 £9,440
201 Yot FH| 0,182 15,282 A5, 100
01 Ak 2reltl 7,910 13,010 £5,100
OSEXNTAY E28 ST MB (2B A1)
35 o8 0 1,000 A1,000
OSEXNGAY 222 HEA HI(2BY 4
2) 3E 08 0 3,000 A3,000
OJlg22 MNEHANE BEDD M (S8
RS 0 1,100 A1,100
— AT o e 33 02 0 300 £300
— DT 35 o8 0 800 800
401 AIEHI L 2T HI 22,660 25,000 ~2,340
01 Al& I 22,660 25,000 £2,340
Ololgs AS0R 22L (FHT A AY)
24 22,660,008 * 14 22,660 25,000 A2,340
405 THaHE S bl 18,000 20,000 A2,000
B EEEEET 18,000 20,000 £2,000
Ofolgs AS0Q BHITY(HAEY) 8,000 20,000 A2,000
— HYIHI (M, &2 S)
23 1,800,000% 1,800 2,000 A200
— Ty HY AH 1,170,002 * 404 4,680 5,200 A520
L IEE=3Y 2H 630,0008 + 10k 630 700 ATO
—PC 2 2L A 1,800,000% * 1CH 1,800 2,000 A200
~sgsg c& 2 4,500,0008 + 2CH 9,000 10,000 A1,000
— JIEFXHRH A3 90,0002 90 100 A10
SUAYTLE ALY 20,196 39,098 18,902
201 L2yl 5,148 8,148 3,000
01 Ak 2relt| 0 2,000 £2,000
Os20 FEDS DHHE L T (S8UL
2) 33 0 0 2,000 £2,000
02 222l 5,148 6, 148 A1,000
OSIIEHE EHOIX 2% 2elul(ZB T
A2) 2,700 3,700 A1,000
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2N sI|=HE
MM AP SA A (SBHLSA/ s - 55)
Sel: E§8XF SAUXE JIEHES (GHel &)
SAH-AH -2 (SA) - HREAY - BES 01l Ao IR Husz
—EHO0IX 89 22yl
A 220,0002 * 128 2,640 3,600 A 960
— ST MHIA AlAE 229H  AFE 60,000 60 100 A 40
301 YBtEEZ 48 15,950 A 15,902
09 BMALAHI XIS 2 48 4,550 A 4,502
OYFANEES s AEI|s AZ (AR
2 48,0002 * 13 48 1,400 A1,352
Os20 BINE SA(S2Y A2
I3 0% 0 3,150 23,150
12 Bt &2 0 11,400 A 11,400
O=20 AN ALY (E2H A2 0 11,400 A 11,400
—Jlez 3F ox 0 3,900 A 3,900
= = 3F 0% 0 4,800 A 4,800
— 0ol 3F o’ 0 2,700 A2,700
S| H L2 ALY 604,987 692,809 AB7,822
101 @124l 52,011 54,897 A2,886
04 JI2RI22RNEES 52,011 54,897 A2, 886
OsJIH =34l L AUAIE (Z e R Ar2E) 48,861 51,747 A 2,886
- =534
A 68,7202 * 1Y * 302 » 3MHA 6,185 8,453 A2,268
— e sEINrY
A 68,7202 * 18 * 7Y * 3 A 1,444 2,062 A618
201 LBt 166,732 191,192 A 24,460
01 AR 22| H| 7,740 14,700 26,960
OSIIHLS DIHME (TN A2
ZF 10,0008 * 300= 3,000 6,000 A 3,000
OSIIH B B (YSHEM A
ZE 12,0008 * 1700H 2,040 6,000 23,960
02 B22Y9H| 158,992 176,492 A 17,500
OUlE sJH S2H(2A, SREA,
S22 A)(Z AN A 74,100 91,600 217,500
—AS(SANFI| 2 158)
ZA 150,0002 * 5904 * 13 8,850 12,450 A 3,600
—ZSEH(=FEXHD| 2 24E)
23X 200,0002 * 15504 * 13l 31,000 40,400 29,400
— S (E2H 2 228)
23X 250,0002 * 137CH * 13l 34,250 38,750 A 4,500
206 X 24l 30,000 36,000 26,000
01 MZHl 30,000 36,000 26,000
OsIIH =35 22 (HHEMH A 30,000 36,000 26,000
—[R2H BE 2 20,0008 * 1,3000H 26,000 30,000 A 4,000
—Z237 Y ARE 2 20,0008 * 20074 4,000 6,000 22,000
301 YBtEEZ 0 21,720 A21,720
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2N
X ZH -
L= B

el

EEBIERE
SUAW FY NCMS(SPHSL/59 - 55)
SEH0 SANNGE JlPEH

A BB -HAEAH) - MRAY - BYS O & o8 A HRsZ
09 BALAHIXIR 3 0 11,220 A11,220
OsgIlH Jesddgd WS HH(S3H 4
Z) 33 0¥ 0 4,320 ~4,320
OYgUg sIIA(24D], 2e2)l) nE(=8Y
A1) 23 0¥ 0 4,800 4,800
OSIIAFHIIISA 1S SHHI(28Y A)
23 0¥ 0 2,100 A2,100
12J8243 0 10,500 A10,500
OSJIH FHIIISA ZA+E(28YH &) 0 10,500 10,500
-Jl=8 33 08 0 3,750 A3,750
i 23 o0& 0 5,400 £5,400
— ot 23 0¥ 0 1,350 A 1,350
401 Al EHI LS THBI 49,144 50,000 1856
01 A& 49,144 50,000 /856
OYUAMNY 2L SHAY ZF o &3
o SAH(E BTN AZ) 49,144 50,000 /856
B 49,144,0008 = 14
405 Xt&tHF SHI 287,100 319,000 A31,900
01 Mt 2 ZF S| 287,100 319,000 A31,900
ONs & U8 S+=I1H Y (Ha=EZ) 287,100 319,000 £31,900
— E2E(600t2)  ZF 45,000,0008 = 204 90,000 100,000 10,000
— ZEHIOIE (60012
33 13,500,0008 = 3CH 40,500 45,000 4,500
— G=H0IA D ZF 13,500,0008 5 67,500 75,000 A7,500
-~ DIIEI(EAH=RH)
3 13,500,0008 2 27,000 30,000 £.3,000
— STHIHY DI (K= 41)
Z & 9,000,008 = 2k 18,000 20,000 £2,000
—UsSHISI B 450,0008 * 1204 5,400 6,000 600
-3l (ss2edl =)
3 4,500,0008 « 20k 9,000 10,000 1,000
—ZeDI(oarE>) FF 2,700,0008  3CH 8,100 9,000 2900
—MEJ(=HMAE) ZF 6,300,0008 * 204 12,600 14,000 A 1,400
— SIHIZEII(4t)  ZF 9,000,000¥ = 104 9,000 10,000 21,000
(F)FAXL2INAHE =010 N 600,000 400,000 200,000
= 300,000 200,000 100,000
& 90,000 60,000 30,000
Al 210,000 140,000 70,000
405 X4t SHI 600,000 400,000 200,000
= 300,000 200,000 100,000
3 90,000 60,000 30,000
Al 210,000 140,000 70,000
01 et 25 S| 600,000 400,000 200,000
OF ML 2T ASSIIAH SUsIIAH 2L
33 600,000,000 600,000 400,000 200,000
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2N
X ZH -
L= B

el

sJl=dd
sSUBMA S NEAY (=Sl
SEXQ s Jlgtxd

1>
[
o
Q
OF
i

SH- B (IAH) - MRAY - BES 0 &t w/E-F HDZ2
= 300,000 200,000 100,000
=) 90,000 60,000 30,000
Al 210,000 140,000 70,000
()Y SsXNIHA 25 13,400 0 13,400
= 6,700 0 6,700
Al 6,700 0 6,700
101 @14 Hl 9,400 0 9,400
= 4,700 0 4,700
Al 4,700 0 4,700
04 JIZtHZ22 s+ 9,400 0 9,400
OHIIY Fs2e= M o X2
9,400,000& * 14! 9,400 0 9,400
= 4,700 0 4,700
Al 4,700 0 4,700
201 ¢4 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000
01 AFR2t2l bl 4,000 0 4,000
OUIHY FSTATI AL
4,000,000& =+ 14l 4,000 0 4,000
= 2,000 0 2,000
Al 2,000 0 2,000
AFAUS SYUHLRABSY 801,580 939,688 2138, 108
= 98,300 98,300 0
< 81,552 82,902 A 1,350
Al 621,728 758,486 A 136,758
SHQ SHEY WsAY 67,276 92,910 A 25,634
201 L Er2A | 40,016 50,020 A 10,004
01 At 22l 40,016 50,020 A 10,004
OMol s e8NS 28,746 38,750 A 10,004
~DEDW HE(WNE)
2 & 8,000& = 3,287 26,296 35,000 NB,704
228 HAUA(WNEY)
Z & 50,000& = 104 500 600 A 100
~DE8 HAA(WNE)
Z & 50,000& = 104 500 600 A 100
~ DS B M (FBEY AY)
2 & 300& = 1,5000H 450 1,050 A 600
DS HASB(OAEY)
2 & 100,000& = 105 1,000 1,500 A 500
301 LEEXZ 27,260 42,890 A 15,630
09 HALAMHIXI &= 16,240 26,550 A 10,310
Osolol H2DS HAT ZA(Milsoae
s s)(HazE2) Z& 10,690,000 10,690 21,000 A 10,310
12 JEEd = 11,020 16,340 A5,320
OBSZ HSDS YALY(EBY 42) 0 2,660 A2,660
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2N sI|=HE
MM AP SA A (SBHLSA/ s - 55)
Gel: SE ME235 HAAMY (St
2 A .2 () - HEMNY - BHES 01l Ao IR Husz
—zz 2 600,000 600 3,200 22,600
SAZIIZISE 29 26,534 27,034 A 500
201 L9y 7,228 7,728 A 500
01 AR 22| | 4,500 5,000 A 500
OLEE 2 JIANM A (M=)
ZA 450,0008 * 10& 4,500 5,000 A 500
(E)H sl sSSHHY 65,980 68,220 A2 ,240
(= 19,794 20,466 ABT72
Al 46,186 47,754 A 1,568
307 @I2+0l & 0 2,240 A2,240
= 0 672 ABT72
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— JIEF %2/ ZE 540,000 540 600 AB60
OJIEH AF2ZH2IH] (0l AFE )
ZE 1,026,000 1,026 1,140 A114
202 04t 62,928 78,660 A 15,732
01 S0l 62,928 78,660 ~15,732
OJIEXNY RFT ot (olar=) 62,928 78,660 A 15,732
— 2o b A 43,776,000 43,776 54,720 ~ 10,944
— 290l AH 19,152,000 19,152 23,940 N4,788
203 Y2 FZAH 3,780 4,200 A 420
04 B2 EA 3,780 4,200 £~ 420
ORNSILFTH OIS L) (0 =2)
ZE 3,780,000 3,780 4,200 £~ 420
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